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ENGLISH VERSION
-1 @ _Explaiﬁ meanihg and definitions of financial 10
management and discuss scope of financial management
in detail. | | ' '
) .Explain importance of finagcial mahagement. 10
| oR
i P Coiﬁpany Ltd. is considering to purchase a machine. 20

2 machines viz M, N are available. Fach costing Rs. 4,00,000.

And estimated life of each machine is 5 years. There is no

scrap value. Company's required rate of return is 12%. The

tax rate applicable is 530%. The expected earnings before

depreciation and taxes for 2 machines are as follows :

Year 'M' Machine 'N' Machine
Rs. Rs.

1 2,60,000 1,40,000

2 2,006,000 1,60,000

3 1,60,000 2,60,000

4 140000 | 200,000

5 100,000 |  1,20,000

Select the most pr‘o‘ﬁtable. machine using the following
methods: ~
(1) Pay back period

RL-9502]

[Contd...



(2) Average rate of return

(3) Net present value
(4) Profitability index

(5) Internal rate of return.

The present value of Re. 1 and the discount rate of 12%
for first 5 years is Rs. 0.893, 0.797, 0.712, 0.636, 0.567.

2 (@) Discuss effect of operating and financial 1everage _ | 10
on profit. | ' '
@) Explain measurement of leverages. 10
OR
2 (@) A company h:is followihg specific cost of capital 10
along with book value and market value base :
Types of capital Cost " Book Market
value value
(1) Long term debt 5% 30% 25%
(2) P/s capital 10% 20% 17%
(3) E/s capital 12% 40% 46%
(4) Retain earnming 8% 10% 12%

(1) Find weighted average cost of capital on based of

bhook value and market value.

(2) Find marginal weighted average cost of capital

based on, if company needs to raise additional fund
by 50% long term debt, 35% by P/s, and 15% by

retain earnings.

(b)l Abhi Ltd. Company issued 30,000, 12% irredeemable 10
debenture of Rs. 100 each. Company paid underwriting

commission Re. 1, bro_kerage at 1%. While other charges
at 1.5 Rs. per debenture. If tax rate 1s 50%. Find out
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If,
(1) Issued at par.
(2) Issued at 8% discount

(3) Issued at 5% premium.

3 (@ Anu Ltd. and Binu Ltd. both are same company but
Anu Ltd. is levered company while Binu Ltd. is unlevered
company. Anu Ltd. has 7% debenture of Rs. 9,00,000.
Both are the company's capital employed Rs. 24,00,000.
Earning before :intere_st and tax Rs. 2,88,000. If tax rate
is 50%. Find out value of firm and overall cost of capital
of both the company as per NI and NOI approach. If
equity capita]isatioh rate 1s 15%.
() Explain Arbitrage process with example. |
OR
3 (a) Explain factors to be consider in dividend pohcy.
(b) Explain legal restriction on payment of dividend.
4 (@ Explain various factors determining needs of working
capital requirements.
() Discuss various types of working capital.
OR
4 Write short notes : | )
(1} _(‘}-n-i?ﬁ mli,qtﬁipdfﬁﬂa}ni tad : -

10
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2)

Management of working capital.
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(b)

&

Explain various technigques of inventory control.

Discuss factors determing cash need.

OR

What is cash budget ? Explain in detail the
advantage and disadvantage of cash budget.

Write short notes :

(1) Various 1e\_}el for inventory control

(@) Stribt and liberal credit policy.
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